mean # PXL hits vs eta

5

<pixel hits>

Ratio

=

0.95

M*wﬁ#mmmm««nﬂww«.*

e I
n

| mean

# PXL Layers with measurement vs eta

<pixel layers>
N w
a1 w 6] s

N

15

0.5

o+

Rati

0.95°

F

mean # STRIP hits V|

12

10

<strip hits>

Ratio

0.95

|
w

[
|||||||||

—=— DQM_V0001_R000000001__Global
—e— DQM_V0001_R000000001__Global__
—«— DQM_V0001_R000000001__ Global

__mkFitOL
mkFit100__RECO
mkFit100tobtec_

D_ RECO

RECO

H_._+___+
) c') '1 2 3
n

++-** -+ #wwww

—'2

8

7

<strip Iayers>

Ratio

+# **%MWW ..... +| )

0.95

w

—2 —1 0 1 2 3




	Contents
	Page 1


